(R BFDE]

A/R—F 1 2 3 | R |7-sz| AL
1 & SE—AR SS A0l @ | @ |22 1
2 | #W mE B E A 0 3 | o2 3 2
3 AE R +/\&RFERIT 2 | @ 1/2 2
B/\—hk 4 5 6 | R |r—oz| BAL 1o
4 | ANl FAB | HEZNIEEK @ | 2 |1/2 2
5 | B A— | BwEFRAE | 0 2 | or2 3 ‘
6 | BEH EX +N\BHBT | @ | @ 2/2 1
3
C/8—k 7 8 9 | BE |r—sz| IRAL
7 SH K& +/\BMIRIT @ | @ |22 1 lo
8 A& FEZ)IEE®R | 3 3 | o0r2 3
9 A& EX LREVRIG 1 @ 1/2 2
D/3—Fk 10 | 11 | 12 | B |v—oz| IBEL
10 | #K £&E LREVRIG @1 |12 -2 3
1| A B&% | BESIAER | 3 @ |12 0| 2 3
12 | KR @t +/\BM|T | @ | 3 1/2 | +2| 1
3
E/S—k 13 | 14 | 15 | B3R [7—2z| IBEAL
13 | Wik #®fE +/\ERFERIT @ | @ |22 1 lo
14 | WX EHR BKEATH 0 3 | o0r2 3
15| &FbU HRE | BE=IEEKR | 0 | @ 1/2 2

(343 - 4HLR TE B ]

7 S K& +/\EMIRTT
12 | KR @y +/\EMIRTT




